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Aufgaben-Quickname: 7163

Aufgabe 1
Quick:
7163

Berechne.

a) 3 · 4 = 12 b) 1 · 9 = 9 c) 9 · 6 = 54 d) 6 · 2 = 12
e) 6 · 9 = 54 f) 8 · 3 = 24 g) 7 · 2 = 14 h) 9 · 4 = 36
i) 6 · 5 = 30

Aufgabe 2
Quick:
7163

Berechne.

a) 16 · 7 = 112 b) 17 · 3 = 51 c) 12 · 4 = 48 d) 17 · 2 = 34
e) 13 · 6 = 78 f) 14 · 4 = 56 g) 17 · 8 = 136 h) 13 · 8 = 104
i) 17 · 5 = 85 j) 15 · 2 = 30

Aufgabe 3
Quick:
7163

Berechne.

a) 13 · 31 = 403 b) 16 · 10 = 160 c) 11 · 40 = 440
d) 18 · 29 = 522 e) 14 · 24 = 336 f) 12 · 31 = 372
g) 17 · 28 = 476 h) 11 · 43 = 473 i) 18 · 35 = 630
j) 19 · 43 = 817

Aufgabe 4
Quick:
7163

Berechne.

a) 47 · 20 = 940 b) 23 · 41 = 943 c) 47 · 84 = 3948
d) 16 · 33 = 528 e) 49 · 91 = 4459 f) 44 · 30 = 1320
g) 33 · 90 = 2970 h) 31 · 52 = 1612 i) 17 · 51 = 867
j) 19 · 12 = 228

Viel Erfolg!
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